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The number £=2 =0 ythenX= ...

1 X-9 B
A) 1 B) 2 C)3 D) 4
DBTT i
= 17 19 23 87 B
A) 33 B) 33 C) 33 D) - 3
The necessary condition to make % a rational numberis X# ... A
3 =
A) 1 B) 2 C)3 D) 4
The rational number £- is positive if Xis .......c......... B
4 3
A) > zero B) < zero C)=>zero D) zero

- 1 = i -
If: X+ % 2 + 5 ythenX= ...

5 A,
A) 2 B) 3 C)4 D)5
X-2 ; :
. If x_3 'sa rational number ,then X# ... C
A) 1 B)2 C)3 D) 4
1.6% oo
g 1 2 2 5 B
AH? B)1§ CHE D“E

The necessary condition to make S _ arational numberisX# ...

B X+3 C

A) -1 B)-2 C)-3 D) -4
if £ =1,then X-¥ =
9 Y B
A) 1 B)O C)3 D) 4
Which of the following is least rational number ........cccce.........
10 2 7 24 200 A
& B) 5 C) 23 D) 201
The rational number which lies between 1and 2iS ....covviiiiiennnn..
11 6 2 5 3 A
A) 3 B) = C) - D) 2
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T J—— -2
12 F ¥ g B
A) > B) < C)=
PSP RTU =
13 | 7 . A
A) > B) < C)=
o A PR AR
14 A
A)-4 B)-7 C)-8 D)-9
The rational number half way between : ; : D US i W
” 1 1 1 1 B
A) - B) — C) 2 D) +
e AR O ST S
16 | 7 5 B
A) > B) < C)=
a7 RO R
17 A
A)-3 B)-7 C)-8 D)-9
The rational number half way between : ; ; g B0 i s
18 1 1 1 1 C
A) > B) 3 C) vy D) 3
e e L 3
19 | 5 B
A) > B) < C)=
i i R e
20 A
A)-2 B)-7 C)-8 D)-9
The rational number half way between : 110 y 130 R AT
21 1 1 1 1 D
A) > B) 3 C) T D) 3
Thevalueof | -2 |+ |-3|=................
2% |-21+|-3]| A
A) 5 B)6 C) 7 D)8
1,3 =
R T e
- 5 1 5 C
2 1 2 =
Al 6 B) 15 <l 4 D) 21
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The multiplicative identity element in Qis oo

24 B
A)O B) 1 C)-1 D) 2
The additive inverse of : (%) IO s
i 3 3 4 4 C
g s 3 “) % ? N
- . . g— & \Z0ro
The additive inverse of : (—) IS .
26 5 C
A)O B) 1 C)-1 D) 2
The additive inverse of : -lilgl— IS e,
27 C
=3 =1 | 1
A) 5 B) 5 C) 5 D) >
The remainder of % from % - L
28 , " B
A) 3 B) 3 C)1 D)-1
if: & =1 then2a-b= ... .&
29 b 2 C
A) 2 B) 1 C)0 D)-1
30 The multiplicative identity element in Qis B
A)O B) 1 C)-1 D) 2
The multiplicative inverseof —1is ......................
31 ¥ C
A)O B) 1 C)-1 D) 2
The multiplicative inverse of ‘TT BB i s samiicei
- 7 2 3 5 B
i > S & “1§ O) =3~
The multiplicative inverse of |1 IS .
33 -9 D
A) 2 B)3 C) 5 D)9
gz im L GO B i
34 y = y B
A)O B) 1 C)-1 D)-2
. 4y -
H: =X=— thenX= ....ccicevevnensccnncs
35 5 5 C
A)O B)-1 C) 1 D)-2
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If: L xn=1 SIMORN N = asssauiuai
2
3 4 5 2 7 C
A) 3 B) £) C) = D) o
B we B evevevenss
37 b a -3 B
A)-2 B)-3 C) -5 D)-7
M i =1
38 1 1 1 1 C
A) > B) 3 C) ] D) 3
37"1_ X oo =1
i s 2 4 5 C
A3 57 ©) 33 9) 27
If: ‘i xn=1,thenn= .ourriirirrieennn...
B
40 C
3 4 5 5
A) - B) T C) vy D) S
The rational number lying at half way between % and % ......................
- 11 9 5 13 C
A 36 B) 36 ©) ¢ ®) 30
The rational number that lies one fifth of the way from % to % .............
o 1 3 9 19 C
A 7 ° 8 © 20 °) %0
The rational number that lies one fourth of the way from % to % .............
- 5 13 7 15 C
A g ®) 32 AT D) 32
The rational number that lies one third of the way from % to % N
- s 7 5 11 C
i) 8) 21 © 3z ) 2%
A5 The coefficient of algebraicterm 7X°yis ... C
A) 5 B)6 C)7 D)8
o The degree of the algebraic term: X*yis ... C
A) first B) second C) third D) fourth
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- The algebraicterm6 a*b®isof ... degree A
A) sth B) 6“1 C) Tth D) Blh
The square ofthesumofXandy= ...
48 2 2 2 . | C
A) (a+b) B) (a+c) C) (X+y) D) (X+2Z)
40 The algebraic expression : X*+ 3isofthe ................. degree B
A) first B) second C) third D) fourth
RKEQgR= e
50 D
A) 2 X B)3X C)4Xx D)5X
6X+5X-7TX= ...
51 D
A) X B)2X C)3X D)4 X
= The increase of (4 X?)then (-2X% )= ... ... B
A) 5 X2 B) 6 X2 )3 X D) 4 X?
- 2X+3yisgreaterthen3y-Xby .................... C
A) 4 X B)5X C)3X D) 6 X
s The remainder of subtracting (-4 X )from3 Xequals .................... B
A) X B) 7X C)3X D)4 X
(2X-=T7)(2X+7)= ... ..., - 49
95 2 2 2 2 B
A) X B)4X C)9X D) 16 X
X-5)(X+5)=X%X28N _A..
e | (X-5)(X+5) A
A) 25 B) 36 C) 49 D) 64
20-3)(20+3)=400—.....................
&7 ( ) ( ) C
A) 1 B) 4 C)9 D) 16
-7 _
5a (X-3)(..Y....m= ) =X 9 C
A) X + 1 B)X+2 C)X+3 D)X+4
2
— -+~ — -
59 (X=3)(X+ ... )=X"— ... C
A)1,1 B)2,4 C)3,9 D)4, 16
(2X - oo —4X+1
60 B
A) X2 B) 4 X2 C) 9 X2 D) 16 X2
861 l(X-2P=X2-4X+ ... ... B
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A) 1 B) 4 C)9 D) 16
The middle termof (X — 3y )%= ...
- ( y) B
A)4 Xy B)6Xy C)12Xy D)20 Xy
If: (X+y)2=13, X%+ y? =9 thenXy= .. ...
63 3
A) 1 B) 2 C)3 D) 4
A rectangle whose length is 3 L m and its widthis4 m L , then its area is
64 313 22 3,3 212 B
A)12 m3 L B) 12 m? L C) 56 m° L D) 56 m? L
(2X+4)(X+1)= ... +6X+4
65 2 2 2 2 B
A) 6 X B) 2 X C)12 X D) 15 X
X+5)(2X-7)=2X%+ ... -35
g || ¢ ) ( ) C
A) X B) 2 X C) 3 X D) 5 X
22 REBN® )= ..viienssares
- (2X7) X ( ) C
A) 6 X2 B)6 X3 C)6 X* D) 6 X°
(Ba b )} X({4a°b> )™ .....iconoomm
68 B
A) 10 a° b*? B)12 a*b° C) 12 a® b° D) 10 a’ b®
3XX =15 X°
69 D
A) 2 X2 B)3 X3 c)4 x* D) 5 X°
24 X° +-4 X% =
70 B
A) -8 X2 B)-6 X3 C)-4 x* D) -8 X
2 .
+ o =
2q [(X° X)X Rg...... L A
A) X +1 B) X+2 C)X+3 D)X+4
2
N - —
2o [ (X +3Xy)+X =N C
A X+y B)X+2y C)X+3y D)X+4y
" (25X8 +5 X2 )+5X% = ... D
A)5 X+ 1 B) 5X2 +1 C)5X3 +1 D) 5X4 +1
24 The highest common factor of the expression : 8 X2 —4Xis ... C
A) 2 X B) 3 X C) 4 X D) 5 X
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The highest common factor of the expression : 8 %* V=4XVyis ...............

75 C
i+ B)3Xy C) 4Xy D)5 Xy
The H.C.F. of the expression: 3 X* y2 -6 X2 y2 . B
76
A)2 X y* B) 3 X y? C) 4 X2 y? D) 5 X2 y2
4, | The expression: a*+alb=(a+b) ... o
N B) a® C) a® D) a*
If:a+b=5,thenda+4b= .. ... ..
78 C
A)10 B) 15 C) 20 D) 25
- 12 X% %8 X5 28X i +1) A
A) 4 X B) 5 X2 c) 5 X3 D) 5 X
a0 | 2 a’+6ab=_........(3a+2b) o
A)4a B)ZE 0)33 D)Sa
8-1 ThE range GfthE UalUESZ,'I 18,13,13 andSiS ...................... C
A) 10 B) 11 C)12 D) 13
82 The mode of the numbers:3,4,5,6,7and5is ... -
83 The mode of the numbers :3,12,6,3+Xis12,thenX=.................. C
il B) 8 C)9 D) 11
a4 The order of the median of thevalues:5,2,3,8,9,6,11is ..................... C
A) Second B) third C) fourth D) fifth
- Order of median of set of values is fourth then number of values=............... C
A)3 B) 4 C) 7 D)6
a6 The median of the numbers :5,11,19,2,4is ... C
87 The median of thevalues:a+4,a+2,a+3is7,thena=........... C
A) 2 B)3 C)4 D)5
The mean ofthe numbers :4,2,12is ....................
88 C

A) 4 B)5 C)6 D) 7
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4 The measure of the right angle = -------------+. :

(a) 90 (b) 180 (c) 270 (d) 360
g The type of the angle of measure 179° 60 i --oveeeneeee angle.

(a) acute (b) obtuse (c) straight (d) right
" The angle whose measure is 210°is ............... angle.

(a) an acute (b) a right ~ (c¢) an obtuse (d) a reflex
4 | Em(£B)=120°;then m (reflex £ B) = oo )

(a) 60 (b) 120 (c) 240 (d) 180
. The angle of measure 70° complements an angle of measure .-+ °

(a) 90 (b) 20 (c) 180 (d) 110
. If £ A complements Z B sm (£ A)=m (£ B) sthen m (L A) = -evveene. 4

(a) 90 (b) 180 (c) 45 (d) 60
: The acute angle complements --------------=angle.

(a) an acute (b) an obtuse (c) a right (d) a reflex
. The supplementary angle of the angle of measure 70° 18 ««--cooeeeeee.

(a) 30° (b) 110° (c) 20° (d) 290°

The acute angle supplements -« angle.
9 | (a) an acute (b) an obtuse

(c) a right (d) a reflex

If one of two supplementary angles is right. then the other is - oveo--- angle.
10 (a) an acute (b) a right (c) an obtuse (d) a straight
" If £ Asupplements ZBand Z A=/ B sthenm (Z A) = --ceeveenn. °

(a) 180 (b) 90 (c) 360 (d) 45

The sum of the measures of two adjacent angles formed by a straight line and a ray
12 | with a starting point on this straight line 18 ...............

(a) 90° (b) 180° (c) 270° (d) 360°

If £ A'and £ B are supplementary angles and m (£ A) =2 m (£ B)
13 || sthenm (L A) = oeeeee. 0 |

(a) 90 (b) 60 (c) 180 (d) 120
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If the ratio between two adjacent supplementary angles is 2 : 3 5 then the measure of

14 | the smallest angle 18 «++-eeeeev : C
(a) 108 (b) 36 (c) 72 (d) 125

- The sum of measures of the accumulative angles at a point equals «------------ D
(a) 90° (b) 180° (c) 630° (d) 360°
If AB = XY sthen AB --cevvvene. XY

16 B
(a) > (b) = (c) < (d) #

47 IfAXYZ=ALMN sthenm (£ZY)=m (£ ---evveeeeees ) B
(a) L (b) M (c)N (d) X

18 If AB=XY sthen AB — XY = ----occvevenns D
(a) AB (b) XY (©) 1 (d) zero

- If AABC=AXYZ sthen BC = -vovveneene. A
(a) YZ (b) XZ (c) XY (d) AC

G IFAABC=AXYZand m (Z A) + m (£ X) = 100 5 then m (£ A) = --eoveeeeeee D
(a) 100 (b) 80 (c) 40 (d) 50

- IFAABC=AXYZ sm (£ A)+m (£ C)=110° sthen m (£ Y) = --ovrevrverees’ B
(a) 50 (b) 70 (c) 80 (d) 100

- It two straight lines are parallel to a third straight line » then they are --+-.oe... C
(a) perpendicular. (b) intersecting. (c) parallel. (d) congruent.

” The straight line that is perpendicular to one of two parallel lines is «-------.... to the other. C
(a) parallel (b) congruent (¢) perpendicular  (d) equal
If AB // XY » then AB (1 XY = coveen

24 | (a) {B} (b) AX C
(c) D @ {Y}

- IfL, //L,and Ly L Ly sthen ---oooeoevs 5
(L, LL, (b)L, /L, ()L, // L, (d L, LL,
In the opposite figure : .
ABNCD={C} sthen X = c-rvvvrerenn ° C

26
(a) 180 (b) 30 e /ax
(c) 20 (d) 120 B C A
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In the opposite figure : C oS A
- m (£ CMB) = --oeoenene. ? MP136
(a) 230 (b) 100
(c) 130 (d) 30 IB
In the opposite figure : D A
The necessary condition to make /\ /\
28 | AABC = ADEF s --ooeovee. A N e >
F E L B
(a) AB =DE (b) AC =DF
(c) BC=EF (d)m(£LA)=m (£ D)
In the 0ppmiteﬁgum:1fﬁ'—ffﬁ sthen k = +-ooevvvenean : Xz—;. v
29 | (a) 90 (b) 60
(c) 30 (d) 20 i
60
L g Z
In the opposite figure : 5 o
30 ﬁﬂﬁ:{M} s (£ AMC) = -io0eceienns X
(a) 30 (b) 210 (c) 150 (d) 60 D 150 B

The measure of the right angle =----------.....

31

(a) 90 (b) 180 (c) 270 (d) 360
- The measure of the straight angle = -« °

(a) 90 - (b) 180 (¢) 360 (d) zero
o The type of the angle of measure 179° 60 is -------... angle.

(a) acute (b) obtuse (c) straight (d) right
34 The angle whose measure is 108°is -.............. angle.

(a) an acute (b) a right (¢) an obtuse (d) a straight
e The angle whose measure is 210° is ............... angle.

(a) an acute (b) a right ~ (c¢) an obtuse (d) a reflex
an If m(£B)=120° ythen m (reflex £ B) = -+-eeeeeeens °

(a) 60 (b) 120 (c) 240 (d) 180
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" AR osiecsiniisin AR _
(2) € (b & (c)C ¢

- Ifm(LA)+m(£LB)=90° sthen LA » £ Bare - angles.
(a) complementary (b) supplementary (c) equal (d) adjacent

The angle of measure 70° complements an angle of measure -+ -+

- (a) 90 (b) 20 (c) 180 (d) 110

ag | 1f £ A complements £ B sm (£ A) =m (£ B) > then m (£ A) = s

(a) 90 (b) 180 (c) 45 (d) 60
- The acute angle complements --------------- angle.
(a) an acute (b) an obtuse (c) aright (d) a reflex
- If the two adjacent angles are complementary s then their outer sides are -+
(a) perpendicular. (b) coincident. (¢) on the same straight line. (d) skew.
- The two angles 35° 9 55° are «-vvoeoeeeeve

(a) complementary. (b) supplementary. (c) adjacent. (d) reflex.

Fm(£LX)=2m(£Y) s £ Xand £Y are two complementary angles
44 | sthenm (£ Y) =
i (b) 45° (c) 30° (@) 15°

The supplementary angle of the angle of measure 70° 18 «----oooeeeeee

45
(a) 30° (b) 110° (c) 20° (d) 290°
The acute angle supplements .-« angle.
46 | (a) an acute (b) an obtuse
(c) aright (d) a reflex
- If one of two supplementary angles is right. then the other is -+ angle.
(a) an acute (b) aright (c) an obtuse (d) a straight
i The obtuse angle supplements ------------. - angle.
(a) an acute (b) an obtuse (c) a right (d) a reflex
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If Z Asupplements ZBand Z A=/ B sthenm (L A) = eoveeneen.
(a) 180 (b) 90 (c) 360 (d) 45

49

The sum of the measures of two adjacent angles formed by a straight line and a ray
50 || with a starting point on this straight line is ...............
(a) 90° (b) 180° (c) 270° (d) 360°

If £ Aand £ B are supplementary angles and m (£ A) =2 m (£ B)
51 | sthenm (L A) = ..ccocec.... 0
(a) 90 (b) 60 (c) 180 (d) 120

[f the ratio between two adjacent supplementary angles is 2 : 3  then the measure of
52 | the smallest angle is -+

(a) 108 (b) 36 (c) 72 (d) 125

If £A=/B s /£ Aand £ B are two supplementary angles

53 ,[hené—m(LA)z ...............

(a) 15° (b) 30° (c) 40° (d) 60°

The sum of measures of the accumulative angles at a point equals -+

e (a) 90° (b) 180° (c) 630° (d) 360°
55
(2)> (b) = (©) < (d) #

= INnAABC »ifm(£LA)=30°ym(£LB)=90° sthen m (L C) = -eorreee

(a) 60° (b)) 30° (c) 45° (d) 90°
. HAXYZ=ALMN sthenm (£ Y)=m (£ --ovoeeeeees )

(a) L (b) M (c) N d) X
" IFAABC=AXYZand m (£ C)=50° sthenm (£ - SETIRTES ) = 50°

() X (b)Y ©zZ M
59 If AB= XY sthenAB — XY = --cceeveeennn.

(a) AB (b) XY (c) 1 (d) zero

Mr. Ma. Esmaiel - Page [6] - Prep [1] - First Term - Geometry - Final Revision - Problems




_1
Page [ 7 ] - Math - Mr. Mahmoud Esmaiel - Mobile : 01006487539 - 01110882717 |J

60

If AABC=AXYZ sthen BC = --oevvveeee.
(a) YZ (b) XZ (c) XY (d) AC

If AABC=A MNO sm (£ M) =40° and m (£ C) = 60°

61| sthenm (L B)=-riiiiis |
(a) 40 (b) 80 (c) 60 (d) 100
6o | TAABC=AXYZand m (£ A)+m (£ X)= 100° s then m (£ A) = -ooeeeeeees
(a) 100 (b) 80 (c) 40 (d) 50
- FAABC=AXYZ sm(LA)+m (£ C)=110° sthen m (L Y) = --coeveereres
(a) 50 (b) 70 (c) 80 . (d) 100
» If two straight lines are parallel to a third straight line » then they are «---vveveee
(a) perpendicular.  (b) intersecting. (c) parallel. (d) congruent.
If parallel straight lines divide a straight line into segments of equal lengths » then they
65 | divide any other straight line into segments Of -+ lengths.
(a) parallel (b) not equal (c) equal (d) perpendicular
- The straight line that is perpendicular to one of two parallel lines is ... to the other.
(a) parallel (b) congruent (¢) perpendicular  (d) equal
If AB // XY »then AB XY = i
67 | (a) {B} (b) AX
(c) @ d){Y}
IfL,//Lyand L, L Ly»then -ooooevs
68
(L, LlL, (b) L, // L, (c) L, // Ly dL,LlL,
In the opposite figure : C o8 A
S m (£ CMB) = «oveveeee. © N p136
(a) 230 (b) 100
(c) 130 | (d) 30 B
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In the opposite figure : D A
The necessary condition to make /\ /\\
70 | AABC=ADEFis - oooeene A N [
F E C B
(a) AB =DE (b) AC = DF
(c) BC=EF (dm(LA)=m (£ D)
In the opposite figure :
AB N TD={C} »then X= v /
71
(ﬂ.) 180 (b) 30 6X/3X o
(c) 20 (d) 120 A
A
In the opposite figure :
72 | 1f AB=DE »BC=EC » AC L BD sthen m (£ A) = ---ovee- E
(a)m (£ B) (b) m (£ D) \'\
(c) m (£ DEC) (d)m (£ ACD) g C D
Inthenppnsiteﬁgure:lfﬁffﬁathenk= ............... g xzﬂ v
73 [ (a) 90 (b) 60
(c) 30 (d) 20 A
m -
L 74
In the opposite figure :
AD//CE
74 | sm (L B)=oevmnn :
(Hint : Draw a line passing through B and parallel to AD and CE)
(a) 70 (b) 80 (c) 90 (d) 100
In the opposite figure :
75 Eﬂﬁf:{M}am(z’_AMC)= ............... ¥ ><
(a) 30 (b) 210 (c) 150 (d) 60
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[
A — —e
26 | In the opposite figure : 2X
L. bissesessass Eﬁ
(a) 40 (b) 80 (c) 50 (d) 100 C . Y
In the opposite figure : D A
77 m (Z_ C) —J T PP
(a) 105° (b) 75° "
(c) 45 (d) 90° G -
In the opposite figure : X = --.oooooo : T 3x
78 | (a) 20 (b) 30
(c) 40 (d) 120 60, .

Mr. Ma. Esmaiel - Page [9] - Prep [1] - First Term - Geometry - Final Revision - Problems




	1
	2
	3
	4
	5
	6
	7
	8
	111
	1
	2
	3
	4
	5
	6
	7
	8
	9


